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All questions are compulsory.
Question number 1 to 4 are objective type question and each question
carries 1x7=7 marks. Total marks are (1x28=28)

Question number 5 to 12 in about 30 words each. Each question carries
2 marks.

Question n*- 'S words each. Fach question
carrie<
Q . 17in ab~ marks.
.umber 18 - wurdas. Each question carries
s each.
neernal optir .«1 in each question from question No. 5 to 19.
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(1x7=7)
g1 A fawe e fafam - |

(i} 224 #AT7 H: 78 H7 112 #rzv ¢l 14 STP e o
T HC F w2 -
ERRI @ 299
A\ 05 wF (@) 15 e

(i) FEEnfaF § won 999 2 8 -

(49) W= )
=) T (@) i
(ili) Niz- 5777 # spyfeem geagiat 1 @z B (Ni=28) -
(5 1 @ 2
F o3 @) 4
(tv) FH T B faE e A B T fee e —
5 T 2 @) fer e 2
=, TR (z) frafa 271 6 95 ©
(v) = 9 7 29 w48 g@fas = 27
rf,gj CH5 C* Hz (@) (CHa)2 C*H
@) (CHs)z C* CH: (@) (CHs)s C*

(vi)y ®TafT 5137 CH, @1 sngfa & —
5 THET (@ frfrde
/) a7 (@) wweei
(vii) frefafaa 4 5 fees a7 wivs gare g 22
9) CsHs @ H

[y Cl: (&) CHs"
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Choose and write the correct option -

i : o .
(i) When 22.4 |itre H2(q) is mixed with 11 2 litre Clalgy at STP, mole

of HC| formed is -
(@) 1 mol (b) 2 mol

(¢) 0.5 mol (d) 1.5 mol

(ii) Isotopes have same number of -

(@) Proton (b)

MNeutron

(C)  Proton and Neutron (d) Nucleon

(i) The number of unpaired electron’s in Ni“* ion are (14; - 28

(@) 1 (by 2
(c) 3 d) 4
(iv) Electronegativity in the periodic table on maving from |eft 16
right -
(a) increases (b) remains constant
(C) decreases (d) changes irrequlariy
(v) Which of the following is most stable?
(a) CHa C* Ha (b) (CHa)z C*H
(c) (CH)3 C* CHe (d) (CHas), C-
(vi) The shape of carbanion CHg is -
(a) Linear (b) Pyramidal
(c) Tetrahedral (d) Planer
(vi) which of the following have zera inductive effect?
(@) CeHs (b) H-
© O @ Chs
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.2 ﬁﬂﬁﬁwﬁﬁw@rﬁmwm— (1x7=7)
O i T8 T T & AR 0 @ YBR B TRA] IR o E

(crea / 3797 / Aifres)
(F/Br/C)
(= /31 /7)
(JK "mol 1f’ JK mol! /UK mol- 2)
(v) Yofdm g @sﬁﬁﬂ & SNy @y . -
(am?m?{ / mﬁﬂﬂT/ 31fderRon)
_ (CaCEg / Basz / BeCfa)
(Csz / CaHs / Czl'!4)
Fill in the blanks with correct option -
(i) An..... is a pure substance which contains similar type of atoms.

(element /molecule /compound)
(i) Electron affinity is highest in

........................................................

----------------------------------------------

......................................................................

(JK mol"/ JK mol! /JK'! mol?)
(v) Adsorption of hydrogen by palladium is called..................___

(reduction / adsorption / occlusion)

(vi) The lowest Hydrolysis Will be ........ccc.c.ocooeeiinieeveee
(CaCr2/BaCr2 / BeCry)

(VIT) et e e is highest acidic,
(CaHz / CeHe / CaHa)
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93 WE St aemew fofan - (1x7=7)
A ‘H, . - .

BAH €

() NTPWR T 193 (@) A0

AU FHT AT
(i)  wmafe @y @) Mg
(i) 9Tt afeargs (M) 224 723
(iv) a8 o1& (@) IHFTR & ===
(v) ToRifhe (3) v w0
(Vi) Ter= (@) =t frrees
(vii) &R oIn | () &A% &7 w7759
Match the columns and write correct pair -

Column A’ Column ‘B’
()  Volume of one mole (a) A0

molecule of gas at NTP
(i) lonic bond (b) Mg
(i)  Amphoteric oxide (c) 22.4iitre
(v) Heavy water (d) Transfer of electrons strong

reducing agent
(v) Chlorophyll fe) An electron nch
(vi) Fullerene (f)  Nuclear reactor
(vii) Alkali metal (@) Allotropes of carbon
Y4 UF 9rag IR fafam - lxa=7!

(i) @@= feg 527 27

(i) w&ed o1 ofearfys Fifo
(i) 9% sfafear 71 7= fafan formm steters =

- . T Tt =
] HaTy R e B
g |

(iv) o fafy gr1 7 7 gg@e % =

q1 T WgE Ear &7
(v) W{é&ﬁm#mnﬁmmrww&?:

'

(Vi) TamEH &1 oA 9 By ofetiE a5
(vii) TomTeTd &1 weEgd fafav |
Write the answer in one sentence e&ﬁ’-

() What do you mean by carbogen?
(i) Define Enthalpy.

(i) Write the name of the reaction in which

oxidation and reduction
takes place simultaneously. 7
(iv) Which element is used in the softening of water by Ciark's
method?

(v)  Which metal forms organometallic bond in

(vi) How would you convert the ethyne into be
(vii) Write the isomer of Alcohaol.

Grignard reagent?
nzene?
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U6

.7

.8

H.9

4.10

el Hhouar aar 87
What is a mole concept?
Fgar /OR
TR g3 B oRafia BT |
Define empirical formula.
e amad aRol & fba e Td wiE 87
How many periods and groups are there in modern periodic table?

st/ OR
amgfre ammad fram @ar 27

What is modern periodic law?
Pyerfera ampelt # R G de Wi T aneEl @ g wen fha erir?
(31) CaH2 (@ CaHa
Calculate the number of 6 and = bonds in the following molecules -
(A) CaH:z (B) CazHa4
_ rar/OR
fagga ameel & g w93 &2
What do you mean by dipole moment?
e gra qerr Hifd aadd fed dgd 87
What is critical pressure and critical volume?

3rar/ OR
AT U9 Y& d91d W A9 $T a1 Y9Ia gl 27

Explain the effect of temperature on viscosity and surface tension.

faermar PerHd f&H Fed €7
What is solubility product?
serar/OR
WA 3 YHTd 9T 87
What is common ion effect?
arefirgd (K) @ gerem ¥ Aifsaw (Na) @0 forardfia 2, aai?
Sodium is less reactive than potassium why?

3rar/ OR
7 &I W9 AISTH ¢1g B T H ST S 27

What happens when sodium (Na) metal is added to water?
fermforfaa diffrel & smu—war g3 fafay -

() smgTifiel Yedpreet @ 2 3 - sENfE A
Write kond line formula for the following compounds -

(a) Isopfﬁyl alcohol (b) 2,3 - Dimethyl butanal

154 [221105-D] Page 6 of 8

(2)

2)

@)



912

A.13

914

.15

3ar/OR
fFrefolRea At @ sRearore a7 foRay —
(@) doifesaizs (@) vdem
Wirite the structural formula of the following compounds -
(a) Benzaldehyde (b) Acetone

AT~y #?
What are Electrophiles?

srar/ OR
Jife WE T 87

What are Nucleophiles?
A Y T gzan) g (A] o) A w@ (2) @ WA B oAm
T g gt - |

(i) Z2=17 , A=35
(i) Z=92 , A=233
i) Z=4 . A=9

Write the name and complete symbol for the atom with the given
atomic number [Z] and atomic mass [A] -

i Z=17 , A=35
iy Z=92 , A=233
iy Z=4 , A=9
rar/ OR
qraell BT g Riga Sarev wfed ferfay |

Write the Pauli exclusion principle with example. |
30°C gerr 1 bar @ W g & 500 dm® T HI 200 dm® TF FfS

F¥ @ forg Rpa =gAqH &1 B ATqeadar i’
What will be the minimum pressure required to compress 500 dm? of

air at 1 bar to 200 dm? at 30°C?
agar/OR

PR gae @ AR SAE W S W g B S € | 74

| The shape-shifting bz_illoon’s get bigger as they go up in height. Why?

AT Renid Kp @ Ko o T @foa Iy |
Establish a relationship between the Kp & Ke.

aigrar /OR
aﬁ_maﬁrqmﬁ%@ﬂam%?ﬁwaﬁﬁmmm,mmmm

THTg T DITOI] —
N2(g) + 3Hz2(9) = 2 NHa(g) + AH =- Q

What is

pressure and concentration on the following reaction -

Na(g) + 3Hz(g) =2 NHa(g) + AH =- Q

Le Chatelier's principle? Explain the effect of temperature,
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w16 Fr=faRaa & 9 Q SQ und s

() =rEeY i (i) eI
How will you get the following from benzene?
(i)  Nitro benzene (i) Toluene

Jar /OR
gha W faRae qen &1 SemERe fofa |

Write the Huckel’s law and also write two examples.
37 T &1 rm SemeRe SaR wweEy |

Explain Hess’s law with example.
Jgar / OR
Tl sy — AH = AU + AnRT

Derive - AH = AU + AnRT
.18 ﬁwﬁmﬂﬁmmﬁwﬁaﬂwmmaﬁﬁm—

@) Mn O4 @ H,S, Og @ NH,
Find the oxidation number of the starred elements in the following -
(@) Mn 02 (b) H,S, O () N'H,

Jrar / OR
S <d gY fig @fTg 5 ool # Toeiie o aiferfreRe ger
;’m‘«% WNHT H, eSSRMAfEE 3rd 9w Avarrs 2 |

“Justify giving the reaction that fluorine is the best oxidising agent

among halogens and hydroiodic acid is the best reducing agent among
hydrohalic compounds.

9.19 qaTgY —
) AT HNOs &1 uRaed TR & ura gir fan S aepdr 2 |
@) UBEC YH Fed d ©U § Ugdd Bl € |

([) TrgA 9§ vegitam AseTg BT I9dnT B € |
Give reasons -

(a) Conc. HNOj3 can be transported in aluminium container.

(b) Graphite is used as lubricant.

(c) Aluminium alloys are used to make aircraft body.
Jar/ OR

AYREY T 1T 27 B B G ATTIYY] 3URBY ERT TAT YHIZT &bl FXET
&1 fa gA18v |

What are allotropes? Sketch the structure of two allotropes of carbon
namely diamond and graphite.
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